LAS TRES
CUARTAS
PARTES (75%)

David Galan Parro




CALCULA EL 75% (ESTUDIA EL EJEMPLO)

50% de 60 =» 60:2 -» 30
25% de 60 =» 60:4 = 15
75% de 60 = 50% de 60 + 25% de 60
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50% de 32 = ... =Pp
25% de 32 =» ... =P

75% de 32

50% de 32 + 25% de 32
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50% de 80 =» ... =p
25% de 80 =» ... =P

75% de 80 = 50%de 80 + 25% de 80
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25% de 96 =» ... =P

75% de 96 = 50% de 96 + 25% de 96
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50% de 128 = ... =>
25% de 128 =» ... =

75% de 128 = 50% de 128 + 25% de 128
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50% de 340 =» ... =>
25% de 340 =» ... =>

75% de 340 = 50% de 340 + 25% de 340
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50% de 468 =» ... =>
25% de 468 = ... =

75% de 468 = 50% de 468 + 25% de 468
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